Exam 2; Finance 4360; Fall 2006



Name __________________________________

Note:  For all problems requiring calculations, set up but do not solve anything.  “Set up” means write down the appropriate equation and plug in as many numbers as possible.  For multi-step problems, you should refer back to previous steps.
Bonus:  What Excel short-cut is “used to open the format cells box”?
Short answer questions/problems

Note:  If you write more than a couple of sentences on a short-answer question, you are likely writing too much.

For short-answer questions 1 and 2, assume that the firm’s marginal tax rate is 35%.  Also, use a “+” to indicate an inflow and a “–“ to indicate an outflow.
1.  To estimate the NPV of a new project, you have calculated each year’s expected sales by using the following forecasts:  initial unit sales, initial sales price, the number of units your firm will sell will rise by 3% per year, and the sales price per unit sold will rise by 5% per year.  The overall inflation rate is expected to be 4% per year and the nominal required rate of return on the project is 12% per year.  At what rate should you discount back the cash flows you have calculated?
2.  Your firm, a distributor for various kinds of cheese products, is considering adding a line of organic cheese.  You estimate that organic cheese will equal 3% of total cheese shipped (by weight) but 5% of dollar sales (due to the higher prices on organic cheese).  The total cost of shipping all cheese products is currently $3 million per year and these costs are allocated by weight rather than dollars when calculating profit per cheese line carried.  However, since existing warehouses, trucks, and employees can handle the increase in cheese shipments, total shipping costs will remain at $3 million per year even with the new line of cheeses.  How should shipping costs be factored into your firm’s decision of whether or not to carry the organic cheese line?
3.  The required return on a project is 10% and the internal rate of return on the project is 12%.  There is no capital rationing and this is the only project you are considering.  Should you accept the project, reject the project, or is it unclear whether you should accept or reject the project?  If unclear, explain what else you need to know before you decide.
Use the attached page from Yahoo! Finance to answer questions 4 and 5.  For purposes of the questions, assume it is now 10:01 AM ET on Tuesday, October 24, 2006.
4.  What was the minimum value of the put on BP that has a strike price of $80?
5.  Assume you bought 2 puts on BP with a strike price of $80 in late September.  What is the best cash flow you could realize from closing out your position right now?  Use a “+” to indicate a positive cash flow and a “-“ for a negative cash flow.
6.  Assume that you are using the Black-Scholes Option Pricing Model and calculate d1 as 1.2969.  What is N(d1)?
7.  If we view stock as a call on the firm’s assets, how do stockholder exercise their call on the firm’s assets?
8.  In the Black-Scholes Option Pricing Model, which variable must be estimated rather than calculated or observed?  Note:  assume you are valuing an option on BP stock.
9.  What is the name of the type of analysis where we examine the impact on net present value of changing one variable while leaving all others unchanged?
10.  Lockheed Marlin has the opportunity to invest in a positive NPV project.  Briefly list the conditions under which Lockheed’s stockholders will be in favor of the firm NOT undertaking the project because of conflicts of interest with the firm’s bondholders.
Problems/Essays

1.  Galbatorix Inc. is considering building a new facility for processing eggs.  Use the following information to determine the value of Galbatorix stock after the proposed project is undertaken.
Information about existing facilities:

Present value of expected cash flows from existing facilities:  $500 million

Life of existing assets:  6 years
Value of assets for existing facilities on balance sheet:  $100 million

Face value of existing debt issued by the firm:  $300 million

Current market value of firm’s debt:  $234.11 million

Maturity of debt:  4 years
Standard deviation of returns on existing assets:  31% over next 4 years, 39% over next 6 years

Information on new facility:  

Cost of new facility:  $25 million

Present value of expected cash flows for new facility:  $29 million

Life of new project:  8 years

Cash used to help fund new facility:  $5 million

Face value of debt that Galbatroix plans to issue to help fund new facility:  $15 million

Proceeds from issuing the additional debt:  $12.21 million

Maturity of debt that will be issued:  4 years

Standard deviation of returns on new facility:  42% over next 4 years, 48% over next 8 years

Standard deviation of returns on firm as a whole after project undertaken:  32% over next 4 years, 40% over next 6 years, and 47% over next 8 years.

Return on Treasuries by maturity (all APRs assuming continuous compounding):  1 year = 5.01%; 

4 years = 4.79%; 6 years = 4.90%; 8 years = 4.82%.
2.  Eragon Inc. is considering building a new manufacturing facility for creating dragon miniatures.  Based on the following information, what is the net present value (including the possibility of selling the facility) of the new facility?

Information about existing facilities:

Cost of existing facilities:  $700 million

Present value of cash flows from existing facilities:  $900 million

Proceeds from selling existing facilities today:  $500 million

Life of existing assets:  8 years

Face value of existing debt issued by firm:  $800 million

Life of existing debt:  5 years

Standard deviation of returns on existing assets:  over next 8 years = 42%, over next 5 years = 39%

Information about new facility:  

Cost to build new facility:  $100 million

Present value of cash flows from new facility:  $108 million

Life of new facility:  10 years

Time frame over which new facility could be sold if sales don’t materialize:  7 years

Proceeds from sale of facility if sales don’t materialize:  $65 million

Standard deviation of returns on new facility:   over next 10 years = 48%, over next 7 years = 45%

Standard deviation of returns on firm as a whole after project undertaken:  41% over next 5 years, 44% over next 7 years, 43% over next 8 years, and 47% over the next 10 years.

Return on Treasuries by maturity (all APRs assuming continuous compounding):  1 year = 5.01%; 

5 years = 4.30%; 7 years = 4.80%; 8 years = 4.82%; 10 years = 4.86%
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